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GSE Algebra | EOQOC Review Unit 1 Review
Name: Date:
EOC Practice Problems
, ol
1. Rewrite V2:/72+/5 2. s the sum of 3. Isthe sumof

VAGY

@ond-l— rational or

Irrationale

0.0675675675... and
8 rational or

_ irratfionale
Ration

= Rm‘w‘onaQJ

4. The formula for density is d = m/v,
where m is mass and v is volume. If
mass is measured in kilograms and
volume is measured in cubic meters,
what is the unit for density?2

Clzf&:fj_
Y m?:

5. Arectangle has a length of 2
meters and a width of 40
centimeters. What is the perimeter

of the rectangle? K H D@R@M

2 =L
P=Im+ZmtUmttdm= 4.8 m

6. Consider the expression 3n? + n + 2.
Identify the coefficients and terms.

Coefficients= 341
teems = 3n*n, &1

Yoem st T
7. Look at one of the formulas for the

perimeter of a rectangle where |
represents the length and w
represents the width: 2(I + w). What
does the 2 represent?

1 is o factor

8. The dimensions of a rectangle are
shown. What is the perimeter, in
units, of the rectangle?

Bx+Z P= %x+8

' vk 8 1’3K+6
o0 +r5x+2
T %2
lox +20

9. The dimensions of a patio, in feet,
are shown below. What is the area
of the patio in square feete

[\,’JZ'LU— Y

L
A= (4t A2x-3)
7 Ox% -12x+2x -3
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10.Rewrite the expression (x3+ 2x2 — x) - (-x3 + 2x2 + 6).

K2+
e e

-X

- b

1x> - X -,
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11.Look at the radical -8v726 . What is a rewritten form of the radical?

-88\/3 B. -90.75 C. 9866 D. -2904

12. Look at the expression 2+/8+/20 . Which of these is equivalent to this expression?

V820 = BVI0

A. 2./28 B. 5 @8\% D. 32410
13. Which sum is rational? ( (
\% \( {
(¢ \
A N418 \/%+1.75 . €. 43455 D. 7++2
5 +1.35 = Rational
14. Which product is irational? “ ‘((ROLHD ﬂO\,Q‘
A 2450210 B Ve 71K C. Ba9 =2 D vio-f8 =%
15. Arectangle has a length of 12 meters and a width of 400 centimeters. What is the
perimeter, in cm, of the rectangle? ,Q: |Zm = 1200 Cm [<H
d=12m  w=4ootm

P= 201200)+ 2(Ye0)

A. 824 cm B. 1600 cm C. 2000 cm (3200 cm

16. Jill swam 200 meters in 2 minutes 42 seconds. If each lap is 50 meters long, which is

most likely to be her time, in seconds, per lap? 200 meters = (2 S€Coft15

A
200 eters = 2(60) +42Seconds m
700 mefers = 02 SecondS 50 meters - do.5 sec,
A. 32 seconds @10 seconds C. 48 seconds D. 60
secs
17. In which expression is the coefficient of term "n" -1¢
A. 3n2+ 4n -] ‘
é)-ﬂ“ Snt4—— term= -\ (Loeﬁ.imw—!-
-2n2-n+5
D. 4n2+n-5

18. The expression s?is used to calculate the area of a square, where s is the side
length of the square. What does the expression (8x)? represent?

A. the area of a square with a side length of 8
B. the area of a square with a side length of 16
C. the area of a square with a side length of 4x
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D. the area of a square with a side length of 8x

19. Whatis the product of 7x-4and 8x+ 52 (]~ ((@Xt+5)

+.
me 5o+ 35 x~31x-10
hoyF +2X-20
A.15x + 1 B.30x + 2 @Séx? + 3x - 20 D. 56x2-3x + 20

20. A model of a house is shown. What is the perimeter, in units, of the model?

U
N *

[2x 3 Fl2v 43 l‘-l- Ct %

A. 32x + 12 units
B 46x + 25 units

50x + 11 units
D. 64x + 24 units

21.Which expression has the same value as the expression?
(Bx2+ 2x — 6) — (5x2 - 3x + 2)
3)(2 2 _
3x2+5x 8 @Kz+2)( b
C. 13x2 —x - 8 ) G o) Gl
D. 13x2-5x—-4 -
2
x4 5x=5




